X34 CARBON FIBER

[ 3<% "s"g&’,’:g.'} Assemble/Install Guide NTAKE SYSTEM B9 RSS

X34 CARBON FIBER INTAKE, B9 RS5 Install ation Spiciness Rating: MILD

Installation of your X34 Cold Air Intake system is a
straightforward process that will take approximately one
hour to complete.

Supplied Parts:

(1x) X34 Airbox with 2 grommets
(1x) Carbon Fiber inlet pipe

(1x) 5 jAir Filter

(1x) Silicone hose coupler

(2x) Hose clamps

(3x) M5 screws

(3x) M5 nylon locking nuts

(3x) Airbox mounting spacer s

= =4 =4 4 4 -4 -4 -4

0' Tools Needed:

& e, 1 T25 Torx bit

T 8mm Socket

O3 X553 9 7mm Socket

1 3mm Allen

034MotorsportAs X34 Carbon Fi bler Tobrked Arytpol Unt ake System for

the B9 Audi RS5 is engineered to provide horsepower and _ _
About This Guide

torque gains throughout the powerband, while improving
aesthetics in the engine bay. Our intake offers OEM+ fit and This Install Guide documents the installation processona n
finish that fits perfectly into the area of the factory air box. B9 Audi RS5. There may be minor differences depending on
specific vehicle, market, options, etc.

www.034motorsport.com 1



https://store.034motorsport.com/x34-carbon-fiber-cold-air-intake-b9-rs5-2-9-tfsi.html

X34 CARBON FIBER

[ 3<% "s"gg,’;g.'} Assemble/Install Guide NTAKE SYSTEM B9 RSS

Getting Started Step B

Confirm you have received all the parts included with your Prepare mounting spacers with provided M5 screws
purchase by reading the complete guide , if there are missing
components, please contact :

customerservice@034motorsport.com

Assembly Steps

Step A
Open hardware packages .

Step C
Secure spacers to X34 airbox with M5 locking nuts and
8mm deep socket .

www.034motorsport.com 2


mailto:customerservice@034motorsport.com

[ 33 "5",3&’,’:%’.',7 Assemble/install Guide

X34 CARBON FIBER

INTAKE SYSTEM,B9 RS5

Step D

Attach air filter to carbon fiber inlet pipe with hose clamp

You are now ready to start the installation process.

|

Remove hood latch handle .

Install Steps

Step 1

Step 2

www.034motorsport.com K]



v X34 CARBON FIBER
[034 g’g&’,’%}l Assemble/Install Guide NTAKE SYSTEM B9 RSS

Step 3 Step 5

Pull up front of radiator cover and then slide the whole piece Remove factory air duct from back of radiator support .
towards the front of the car . / /> O S wr* v -

www.034motorsport.com 4



X34 CARBON FIBER

MO o i
[ 33 SF,OR.',? Assemble/Install Guide INTAKE SYSTEM.89 RSS
Step 7 Step 9
Pull factory airbox upwards . Insert assembly into car and apply silicone coupler w/ hose
clamps .
Step 8
Remove rubber factory mounting fee t and transfer them Step 10

onto the X34 airbox spacers. _ .
Tighten hose clamps on silicone coupler .

www.034motorsport.com 5



